BE LR )RES

Mo BE (B4 pHE)

AR EE

1L A3 8 & - FH3 L o me 5214 -

2. YEME L pE

3. AL E ALl R LA w o

4 HEEEBAERWN -

1. -3 Bis > v hih D =#kF h (=) o

2. ody=F(x) (x=20) 5% Sndkc (T f(-x)=—F(x) > vx=0)-
Z f(X)=x-2> Vx>0 B % & ;% f(x+])<0efz 5 (=) °

3. T FE B2 5P v BLAB2) ERFE S *@-’@?—xm 2B }|B gk
A AR & (=) °

4, - F S E (201 g SoY Zanp, mp X2 y3 271

_— -~ I | —_ T = 2 3 4 4 3 2

3 Q > B PQeE i (z) o

5, T+ Fenp Fo awB 029,128,282 7-326-425, 1%
TP TR A - 42 0 BV R () 7 fpenT 8o

6. Kar? &3 1hr Fé#cobci =3 1HF #o % 3(log, a+log, a)=16log,. a °
Pl log, b ehiE 3 (=) o

1. }%ﬁﬁ;i"r& 9 E’“ ’ﬁ Fi%\ﬁ * e j’:mq/}\ﬁﬁi % /ﬁmi #’Li

{r\
)
,m

,ﬁiﬁé BOEp gk te- B RiSh- Lo g R et sk E 0
;é‘ﬁ:afét‘}g")ﬁ //EL](?J(F—‘:l&FIi 7.2 T‘gilj}}"ﬂ’ijfb‘1gij)§“}1§|
[ R =) gty iFigwzd £9 R (GC) Lo

I



